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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — III Time : 2 Hours
BIOLOGY Cool-off time : 20 Minutes

(Botany & Zoology)  Preparatory Time : 5 Minutes
Maximum : 60 Scores

/ General Instructions to Candidates : \
® There is a ‘Cool-off time’ of 10 minutes each for Botany and Zoology in addition to

the writing time of 1 hour each. Further there is a ‘5 minutes’ ‘Preparatory Time’ at

the end of the Botany Examination and before the commencement of Zoology

Examination.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the

Examination Hall.
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PART - A
BOTANY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
I.  Answer any 3 questions from 1 — 5. Each carries 1 score. Bx1=3)

1. Which one of the following has the largest population in a food chain ?

(a) Producers (b) Primary consumers

(c) Secondary consumers (d) Tertiary consumers

2. Which among the following is a selectable marker in pBR — 322 ?

(a) “Ori” (b) Hind III
(c) ampR (d) rop
3. is a better yielding semi dwarf variety of rice developed in India.
(a) Sonalika (b) Kalyan Sona
(c) IR-8 (d) Jaya

4. Whatis a Clone ?

5. Fill up the blank suitably.
Mortality : No. of deaths in the population during a given period.

No. of births in the population during a given period.

II. Answer any 9 questions from 6 — 16. Each carries 2 scores. (9x2=18)

6.  What are the main consequences of Global warming ?

7. What is the difference between hydrarch succession and xerarch succession.

8. Suggest any two methods for the disposal of solid wastes.
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PART - A
BOTANY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
L 12068 5 0100088 ¢alosiamndled ago®eslene 3 af)anomld 20meea9)m)d.
1 capod ofl®eo. Bx1=3)

I 80)esuy 1aILIRlGs afQallo GS)M@ GH0eMea|S)am elall WMo a@@oem ?

(a) 9®aloBHAd (b) (100D DaICRIHEIINUD
(c) BIW 9aIcRIGH®INUD (d) OOV OalERIGMIGHUD

2. oevammldlemmaldlad pBR - 322 @@ &2em)an  eaveldsmilid 208600

aB®96M ?
(a) “Ori” (b) Hind III
(c) amp® (d) rop

3. pmlad alleadlaflos]s;om @R®\E3al0BMEN-HlIEs @RARLGBRM dMEelm

@06’
(a) eavoemorilse (b) ®eIed cavoem
(c) IR-8 (d =
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10.

11.

12.

13.

14.

15.

16.

Match the columns A and
A
(a) Rhizome (1)

(b) Bulbil (if)

B.
B

Agave
Water hyacinth

(c) Offset (ii1) Ginger
(d) Leafbuds (iv) Potato

™)

Bryophyllum

Identify the types of population growth noted in the graph as ‘A’ and ‘B’.

Population density (N) —»

How does the inactive protoxin of Bacillus thuringiensis gets converted into active

Time (t) —

toxin when an insect ingest it ?

Given below is a data showing number of individuals and dry weight of different

trophic levels in a grassland ecosystem. Construct,

(a) Pyramid of number
(b) Pyramid of biomass

Trophic Level

Number of individuals

Dry weight (Kg m~2)

Primary Producer

5,842,000

809

Primary Consumer

7,08,000

37

Secondary Consumer

3,54,000

11

Tertiary Consumer

3

1.5

How can you differentiate true fruits from false fruits ?

What is biofortification ? Write any two objectives of biofortification.

How can we make a host cell competent to receive a foreign gene or DNA ?

Early diagnosis is essential for the effective treatment of a disease. Write any two

molecular diagnostic methods.
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9. A, B ag)a7il ¢508608U3 Gal®)oalS] GalBH0)M

A B
(a) ee0cIVo (i) @rewal
(b)  eniBenila3 (il)  sQI0Y
(c) ®oabeIVY (iii) eneil

(d) eneidioe Mm@sanUd  (iv) 908693
(v)  nicoadlglo

10.  @mldlemam oadl@d A, B agan coaloaq|sioriloidlemnm  eloiluemenses
1832)0 Gl@0d B2 |Gl6T01) af)9I®)B>.

Population density (N) —»

Time (t) —

11.  enpadlgjay’ @dlem lo@m@alay’ a)j06a]s10llea)am Mlat@la0® ¢@I1deSoGBmIas
FISEBROS ORSOLIGINEMUOUD TV(EBI® AIBH)IM®) af)esBOMQIEM ?

12. 80) an@deas @RAaL AIITLOWIOE!I AUMITV®  ESoabld:  HLIQENGSIENss
£lallag)es TMVoaIi®io HHALEHAIWGIo HIEMIENAN AIQ 21)016S GATGlEN)
(a) Vol afloailaw
(b) el aflomw aflozlaw” ag)amiar Qe ee)e:

G(S%alds HLINIG3 lailag)es agame | (Kg m2) mldzeieons
(1010218 ©@Ba [03HA 5,842,000 809
(IOLNAN B DaICBIBDIILNUD 7,08,000 37
B0 9aICERIGH®ISNUD 3,54,000 11
DO DalEEIBHMIBHUY 3 1.5

13. 80} @NIA®O aNRION0, halS aNRIOle @2A@3 af)stBeMm @adlajdlwo ?
14, n1c@IcandIBGlablEaseHmB ad)MIHLID ? DGO O6NE) LISU ETBUD af)$)®)D.

15. &0y @emEldlem @regjeled DNA @m2o@e® aulla:cleedad ollworsled 60)
BRYWICLO® CBHOUDHDD af)sIBOM (100 IMAILNOHAAN AflQIGIE9)H:.

16. 80} cooValaFlOTVVEY oRQAl}e @AW  AIBOO  CHOOTHXEH  COIY)
MIBIRVAREM. aBO@EILI OENE GMI(®O EEOW MBEAN® 20BREBUB af) YD)
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III. Answer any 3 questions from 17 — 20. Each carries 3 scores.

17. Define the following terms :

(@)

Autogamy

(b) Geitonogamy

(©

Xenogamy

18.  Ozone depletion in stratosphere is a serious environmental issue.

(a)

What is good ozone ?

(b) How do CFCs degrade ozone molecules in stratosphere ?

19. The following are the diagrams of two important processes used in rDNA technology.

(@)

Identify A and B.

(b) Write the uses of A and B in rDNA technology.

20. Given below are examples for some ecological/population interactions. Place them

5t 3
N I I I
3’ 5

@ Heat

TTTTT T T T T LT
- ; . Pr
S PEETE vn

5
IITIIIIIIIIIII_II

513

st 3
\ 3 I ITTTTTTTITTITITT T 1
- 2
@ 30 cycles

N N I I I
[TTTTTTTTT]
(A)

Wells

DNA
r bands_\

Smallest

(B)

under suitable columns provided below.

(@)
(b)
(©
(d)
(e)
®
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Abingdon tortoise and goat.
Cuscuta and host tree.

Fig tree and wasp.

Algae and fungi in Lichens

Belanus and Chathamalus bernacles
Lice on humans.

Competition Parasitism

Mutualism

EBC

(3x3=9)
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II1.

17.

18.

19.

20.

17 2)@@3 20 190 ¢210348gEl08 ago®sslels 3 af)anNOmln’ 2CMOOAPI®)d.

3 capod afl@o. B3x3=9)
@069} 2136303 MBI lamd :

(a) e0c50Lnl (b) edligemowal (c) eavemowal

«u"(socegom“ af0ldlael BOGIVOEM3 GUIdAHEMo 30 NVEAICACIY alddlauClGis

(@lUdmM @M.

(a) ‘AW BIEIVIEM’ af)MMISEITD) ?

(b) CFC agemmom@osm ausoeQomiafl@di@d ala] B0CTLME ®@O(MDHOS
afleeisla leemM® ag)eMm9@)H> ?

rDNA quoce:@le all3yleel 0eng) @IWIM (l(@QB)0S 2fl(@aB86em 21)Q16S

@MIclee)aMn .

(@) A, B a7l (@103 @6l j0lw)d.

(b) A, B af)a¥l (aUFQBHB)0S DalCQOINGBUD af)9)@)d.

< 3 ’
N N I I é Smallest
37 5 7 ,

{} Heat

5. 3
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I

Pr
PR -

5. 3
I\TIIIIIIIIIII_II
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5t 5
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N I I
I I I
(A)
Zlaflwememgloel oJoaU”oJm@@@J(mﬂmg aflel DBIOOMEIBBO6M
@GSN ®. BRAIOHW GRMICWIR NIV GHOBEIBSITI CalBBID af)P)®)w.

(a) @nmiloISeM @RYNW)o, @RYS)o

(b)  mslgjoemoglw)o, @RYBIELOW Qlyd:HA o

(c) ®ROIAANL, AIOIVal)o

(d) eerisOMIOL! BRYGNW)O, ANV

(e) eMURIOMAV, 2 I0@AOLITY af)aT] 61UBEMOBHB)HUB

(H  2amuiend ®eiieer ¢alad
AOAVO6 al093 Slaimo VUGNl B>
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II.

PART - B
ZOOLOGY

(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes

Answer any 3 questions from 1 — 5. Each carries 1 score. Bx1=3)

From the following, find out the symbol used in the human pedigree analysis
representing male.

w O o O
© [ o @
Name the technique of transferring embryos upto 8 blastomeres into the fallopian tube.

(a) GIFT (b) ZIFT
(c) ICSI (d 1UI

Microbe which help in the production of Biogas.
(a) Aspergillus niger (b) Trichoderma Polysporum

(c) Saccharomyces cerevisiae (d) Methanobacterium

Which of the following human ancestor is more ‘ape’ like ?
(a) Homo habilis (b)  Dryopithecus

(c) Australo pithecines (d) Homo erectus

Select the cause of extinction of Cichlid fish in lake Victoria of East Africa.
(a) Habitat loss and fragmentation (b) Over-exploitation
(c) Alien species invasions (d) Co-extinctions

Answer any 9 questions from 6 — 16. Each carries 2 scores. (9%x2=18)

Some examples of microbes in human welfare are given. Classify them under the
headings given below.

[Egs : Rhizobium, Propionibacterium sharmanii, Azaspirillum, Lactic acid bacteria,

Anabaena, Azotobacter, Aspergillus niger, Saccharomyces cerevisiae...]

Microbes in Household Products | Microbes as Bio-fertilizers

SY-26 8
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PART -B
ZOOLOGY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes

L 1 )@@ 5 a1o00 ¢2103408glad agomslee 3 aggnoln  20moeae)®)d.
1 capod afloeo. Bx1=3)
. ©@e¢ @mldleemaloiad amieuiead ealdflWil al&eIMEIE3  aljo)HUem
a)a fla @AM (IGTDo aBO@AN B6NE) allSlae)d:.
w O o
© [ o @
2. 8 moavegoaled 988 (B)eMo anceaflem SPMICRIsd OODAIQo HalQan
TLOCHGN B> AflBJWIOS Gald.
(a) GIFT (b) ZIFT
(c) ICSI (d 1UI
3. ICOV PN D@ IOBMETIM MVa00leM qudtiasdlal ago ?
(a) Aspergillus niger (b) Trichoderma Polysporum
(c) Saccharomyces cerevisiae (d) Methanobacterium
4. ©69 ®MICleamMaIRIes ‘@RUBH9)0sIEl"EMIS »SIO@ MVLONY DBB AMAH IO
mBwoail a@@ ?
(a) Homo habilis (b)  Dryopithecus
(c) Australo pithecines (d) Homo erectus
5. 2199908 @Raleadad alleesodlw ®SIBHOmilenl TUlglan” ACILEBROS QloUd
MOVODTIMIBS HIVEMo D VEEITNSIODIHYYD)>.
(a) Habitat loss and fragmentation (b)  Over exploitation
(c) Alien species invasions (d) Co-extinctions
IL 6 2)®@3 16 210088 ¢21034SG8 aBO®BILN0 9 afINOTIM DOMOHAYL®) M.
2 capod afloo. 9x2=18)
6. QAMaHy CHUANVIMSS V)HD Ealld:wBes 2ilel 930U @MIdlasmm).
@aNIGBlENAM DEINAHFHSIG3 BRAIOQ Ao GIGIH).
[Egs : Rhizobium, Propionibacterium Sharmanii, Azaspirillum, Lactic acid bacteria,
Anabaena, Azotobacter, Aspergillus niger, Saccharomyces cerevisiae... ]
Microbes in Household Products | Microbes as Bio-fertilizers
SY-26 9 P.T.O.
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7. Observe the figure given below showing Mendel’s experiment using pea plants.

Parental
X

Tall Dwarf

F1 generation § X %
Ifing
Tall S
F2 generation é}“ &)" 3

Tall Tall Tall Dwarf

(a) Identify the cross
(b)  Which are the laws proposed by Mendel based on this observations ?

8. “All copulations lead to fertilization and pregnancy”. Do you agree with this statement ?
Justify your answer.

9.  Fill the blanks in Column A and B using appropriate terms.

Theory Scientists
(a) Theory of natural selection A
(b) Use and disuse of organs B
(¢) Theory of mutation C
(d) Theory of spontaneous generation | D

10. One of the salient features of genetic code is “Universal”.
(a) Write any other two salient features of Genetic code.

(b)  Which is the initiator codon ? And name the amino acid it codes.

SY-26 10
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7. o2MW@ al®0) aISIT MSOWVI  aIBleHIMEBBIOS 2 Ml(@FldH06mMe @69

@mla@lee)am).
Parental
p 4

Tall Dwarf

¥

F1 generation % X
Selfi

Tall >C 8 Tall
F2 generation %‘* g}” 3’5
Tall Tall Tall Dwarf

(@) v ewoqy ®dladlws

(b) D AldleemOTIENSS HAMBAE3 MIBEC3UTle] P6NE MIVABUB a3l ?

8. “apelo eeelUlld MITWEBS milk TVEWIRMBATIM)o NBEAIEMBITICLINN )
MAEHNIM).” DY (ITV®ICIMEWIS MIBUB Gl H9IMEMNED ? MIOBBRS)HS DTN
LIW)BHGBIANB>.

9. 22®20W aIBEBUE QalcWIUTla] ¢80 A 9o B 90 al)@la loe)d.

Theory Scientists

(a) Theory of natural selection

(b) Use and disuse of organs

(c) Theory of mutation

wAll@R{lesAik=

(d) Theory of spontaneous generation

10. 20ilosd ecpolong ralcra®SSEG3 aNoem “@emilealyavuas”.
(@) 2RVI®D caoUWland ag 0ane TLANCUHDHUD af)9)®)D .

(b)  DMBEHIQB  EHOEWOEMD aB@IHM  ? DB CHOW  H2IQYAIN  @RAIEMO
@RIIUWIOHE Cald of)am ?
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11.  Amniocentesis for sex determination is legally banned now.
(a) What is amniocentesis ?
(b) Why it is banned ?
12. Name any two protozoan diseases, its causative organism and any two symptoms.
13.  Tropical Amazonian rainforest in South America has the greatest biodiversity on earth.
Do you agree with this ? Explain.
14. Complete the illustration chart given below.
Drugs
@ Cannabinoid Cocaalkaloid
Central Nervous system and Cannabinoid receptors ®
Gastro intestinal tract in brain
© @ Erythroxylum coca
15. Correct the following statements, if there is any mistake :
(a) Haemophilia is a autosome linked recessive disease.
(b) Turner’s syndrome is due to the presence of an additional copy of X chromosome.
16. p%+2pq+ g2 =1 denotes an evolutionary principle.
(a) Name the principle.
(b) Mention any three factors affecting this.
SY-26 12
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11.

efloty A3gPEGEIMOw] MsamM @RATIEIHILWAVIAY’ DEa{0Ud MWaaI0200]

mlecooWlaldleayam,.
(@)  af)®OeM @RAMICIHAVABIVIAY ?

(b) ™ MEEIUWlTIMBS 3006Mo af)a® ?

12, G@I06506aLOAI MEI MENBIGIAN aBO@ERIEI)0 MMNE COONBBINS Cald  af)PI®)d,
@RAIWIOS CEIN@IBIN® @Alaj0lW)d, aBOMBIE OME EIUMBUB @Sl
af)9) ).

13, @lol@ aggale ST 66RA1 600I0WH BB OOCHD GREACINVIOE
@RYACIVLIND DaHEMCARILID DPHNOS)HSIL106M). mleoB U H@NEMIS
coKlanameeed ? aflvodledlee)d.

14. @269 ®aldlee)m ail(@le:06mo al)3aTl@:@106)d>.

Drugs
@ Cannabinoid Cocaalkaloid
Central Nervous system and Cannabinoid receptors ®
Gastro intestinal tract in brain
@ @ Ervthroxylum coca
15, @069 ®amlaleoam (ITV®IAINHSE 68 H@®QOMEEI@3 GO af) )] :
(a) Hemophilia is a autosome linked recessive disease.
(b) Turner’s syndrome is due to the presence of an additional copy of X chromosome.

16. p? +2pq + % = 1 af)an® B0} aIGEMOA D@IODD (aIGIAIWIMo 61a QA

(@) Y ®O®OIOR Cald ?
(b) DD ®@IOHBD NIDUWIENIM aBODELILI)o M)A CLISHEBUD af) )M,
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III. Answer any 3 questions from 17 — 20. Each carries 3 scores. B3x3=9)
17. Observe the figure given below :
5] 3
5?
/ 3
3 / \ 5"
5 3

(a) Identify the process in the picture.
(b) Name any two enzymes needed for this process.
(c) Write the peculiarities of the newly synthesized daughter strands.

18. Explain the measures useful for prevention and control of alcohol and drugs abuse
among adolescents.

19. The graph given below shows the level of the ovarian hormones in a normally
menstruating woman during the follicular phase.

Ovarian
Hormone levels

1 3 5 7 9 11 13 15 1719 21 23 25 27 29/1
Menstruation Follicular phase Luteal phase Next cycle
(Proliferative phase) (Secretory phase) begins

(a) Name ‘A’ and ‘B’.
(b) Reconstruct the graph showing the level of hormones in luteal phase.

Days

(c) Name the hormone secreted by Corpus Luteum and mention its function.

20. A DNA sequence is provided below.
5'— ATGCATGCATGCATGCATGCATGCAT - 3'
(a) Write down the sequence of its complementary strand.
(b) Name the enzyme involved in transcription of DNA.
(c) What would happen if both the strands of the DNA act as templates for
transcription ?

SY-26 14
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1L 17 2)@@8 20 116088 ¢2103BE1G8 ago®E1EN0 3 af)ANOTIM DODOOA)®)d>.
3 capod afl@o. B3x3=9)
17. @26 @al@lee)am all(@o MdlB:adlo0)6>.
5] 3’
5’
3™\
3’ / \ 5’
5" 3
(a) 2N@E@3 2H06MalBlENAN (Al @@la Clw)d:.
(b) v LoJ(,oBﬂ@%v(BT@O_IUO {20 QIO OENE” EOMVINMTIBHBIOS Cald.
(©)  an@IO®OX] ©)alo OIS al)(@IB0 NYBHS)NS TVANCUIHDDHUB af)P)DIB.
18.  ®D2008900801SI@8,  ABJETOW®  AWSY  AO)ATNOWWo  B)OJICWINS
®S@)MGIMo M@ BNM@IMN88 203Ne1RU3 AllvdEld:dl0e)D .
19. 80} (s EHAGMAI al@GHOTNeL! GaNIS|HNEINB CLISTIOLI OME GREMALOUDW
€a000EMEMBHROS MLIH® TV)a fla le9)aM (NIaNIEM @IeY GANIBIBNM®.
= H
S .
= A i
PT35S 7 9 11 13 15 1719 21 23 25 27 2911
Menstruation Follicular phase Luteal phase Next cycle
(Proliferative phase) (Secretory phase) begins
(@) ‘A’, ‘B’ a)amlaiw)es ¢ald
(b) enslemd ceigomloel Ganodca0emM MIel GIaMlenMN OTITI (Noan al)Ms
2 (@) @l09).
(©)  €30Ba1V engl@o 9e96laflena canodea0eMInd Gald af)i® ? GRGIOHM
WA af)9)®))d>.
20. &0} DNA aulleadauosm aljaies madal@lcleanmm.
5'—- ATGCATGCATGCATGCATGCATGCAT - 3'
(@)  anO® DYBHB)OS AVBIBAV af)91®)M.
(b) DNA ©)6s s0ma0@laiet®I@3 9036a |S)AN GOTLINTIOS CalOOP)®)b.
(c) ®0) DNA ©@s 0 @9d8l (SOMBAV@laiatOd  6SoCalgaV @Ry
(11BN 2J0@B af)B TVoEANBN)o.
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Answer key
Second Year Higher Secondry Examination 2020

Part ITI

BOTANY

Score 30 1 Hours

Qn. Slll\‘?-Q Answer Key / Value Points Score | Total
No | 70 Score

a. Producers/Primary consumers

c. amp®

—_

d. Jaya

AW N|
el e
f—

Clone is morphologically and genetically similar individual /cell/group of
cells/similar to parents/

Offspring produced by asexual reproduction / Offspring produced by single
parent.

5 Natality/Birthrate. 1 1

6 Leads to deleterious changes in the environment/Results in odd climatic changes |1
El Nino Effect /Increased melting of polar ice/melting of the Himalayas snow 1 2
caps/Submergence of coastal areas/Rise in the sea level/Affects biodiversity
(Any such two relevant responses 2 score))

7 Hydrarch Succession : Succession in water body./takes place in wetter areas/
hydric to the mesic conditions./ the pioneers species are phytoplanktons. 1
Xerarch Succession : Succession in bare land/rock/dry areas/takes place in 2
dry areas/progress from xeric to mesic conditions /the pioneers species are
lichens.
(Definition/any one differences from each 2 score)

OR
Any two stages of Xerarch and Hydrarch succession (2 score)

8 Sanitary landfills/Industrial combustion /reduce,Reuse,Recycle/Incineration/ |1 2
Composting /Open burning 1
(Any two such relevant responses 2 score))

9 Rhizome -  iii. Ginger %)
Bulbil - 1. Agave %)
Offset - ii. Water hyacinth v |2
Leaf buds - v. Bryophyllum %!

10 A --Exponential growth/J-shaped growth curve/Geometric curve 1
(1 score) 2
B. - Logistic growth/S-shaped growth curve/Sigmoid curve/Verhulst- Pearl |1
growth curve (1 score)
or
Explanation of curves (¥2+% = 1 score)
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Inactive protoxin converted into an active form due to the alkaline pH of the
gut. (2 score)
The activated toxin solubilise the crystals and binds to the surface of mid gut
epithelial cells .
create pores in the epithelial cells.
cause cell swelling and lysis and eventually cause death of the insect.

(Any one point 1 score)

2

12

a.. Pyramid of number

OR

sC 3.54.000

i o TO8, 000

Pyramid of Number

b .Pyramid of biomass

Trophic level Dry weight (kg m )
TC 1.5

sC

ol a7

PF [ ] olei]

or
(Pyramid showing numbers only /trophic levels only -2 score)

13

True fruit : Fruits develop from the ovary .
False fruit : Fruits develops from any parts other than the ovary/ Fruits
developed from the thalamus.
(2 score)
Example for True fruit and False fruit (*2 + %)

14

Breeding crops with higher levels of vitamins and
minerals, or higher protein and healthier fats
to improve public health/Breeding for improved nutritional quality.
Objectives
(i)Protein content and quality
(ii)Oil content and quality
(iii)Vitamin content
(iv)Micronutrient and mineral content.
(Any two objectives full score)

Yo
Y

15

Treating the cells with specific concentration of a divalent cation such as
calcium.

incubating the cells with recombinant DNA on ice .

Place them briefly at 42°C (heat shock)

Again place them back on ice

(Any two points give 2 score)
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PCR/Polymerase Chain Reaction
ELISA/Enzyme Linked Immuno-sorbent Assay
Autoradiography.
Single stranded DNA or RNA probe
Antigen- antibody interaction.
recombinant DNA technology

(Any two responses 2 Scores )

17

Autogamy : Pollination is achieved within the same flower/Transfer of pollen
grains from the anther to the stigma of the same flower
Geitonogamy — Transfer of pollen grains from the anther to the stigma of
another flower of the same plant.
Xenogamy — Transfer of pollen grains from anther to the stigma of a different
plant.
or

Diagramatic representation of these processes

(3 score)

18

b)

Ozone which is found in the upper part of the
atmosphere/ stratosphere is called good ozone.
Ozone which act as a shield absorbing ultraviolet radiation from
the sun/Ozone that protect earth from UV rays.

(Any one point 1 score)
UV rays act on CFC and releases Cl atoms.
Cl degrades ozone releasing molecular oxygen
Cl acting as catalysts/ Cl atoms are not consumed
CFC s are added to the stratosphere,affects on Ozone layer.

( Any two points 2 scores 1+1)

19

b)

A. PCR/Polymerase Chain Reaction

B. Gel electrophoresis.

A .Amplification of Gene of Interest/In vitro synthesis of Gene of
Interest/early Molecular diagnosis of a disease/detection of covid19/
detecting criminals/used to detect HIV/for paternity test.( Anyone point)

B .Separation of DNA fragments/used in forensic studies.
( Any one relevant responses from each )

Yo
Yo

20

Competition
a.The Abingdon tortoise and goats.

e.Balanus and Chathamalus barnacle.
Parasitism

bCuscuta on host plants,

fthe lice on humans.

Mutualism

c.fig trees and wasp.

d.a fungus and algae  OR

Competition Parasitism Mutualism

e a e b e

e e e f e d

%)
%)

Yo
Yo

Yo
%)
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